
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

������� �. 
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���
�������������
���������������� 

 
�����	
��
��������� ��� �����
 ( Universal Gym Machine ) 
 

�����	
��
��������� ��� �����
 ( Universal Gym Machine ) �)*
�����	
�+���,���,�-.

,���/0.12.
3.���43.�5��6.�3.��78 16 ,/.
� ;8����7<,�5�=�8�
=+	>)
�? 
 1. �)*
�783.�5��6.� ,.�.�/)�4>8- 16 ,/.
� �)*
�����	
��	��5���A��)BC	
3.�DE3
)F�5�=�8-��3�
 ��4����.�,�5��<��552��G4,�-.
,0.�42���6�.4,�H6-�3+273,+�
C	
�+.
3.� 
,+�
)�43	5H
�=+�4,/.
� ��	�,�4H
3.�DE35��6.�3.�H
273�55 
 2. ,.�.�/)��5�)����

?J.6
�3>8-=.�=-	
3.� =.���.�,.�.�/H
273K,/.
���4273K
���?
 G4=-	
)��5�)����

?J.6
�3>8-�6�.4,�=.���.�,.�.�/273���?
2��2J.3.�DE3 
 3. ;��
,�-.
2���K >),�-.
8-��;�642������.��CM
��
2�?
;��
,�-.
2�?
�
�
	
 ��42��

�1��	G4��5
?J.6
�3��4��.��6�.4,�,J.6��53.�		33J.��
3.�H
273��)�55  
 
  

 
 
 

0.1 1 0.1�����	
��
��������� ��� �����
 ( Universal Gym Machine ) 
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��������� 2  
���
�� !
"#�"���� �$�����
%�%��� 

 

 
��&'��(��
��� 

 

 
 

����!� 

 

 
 


�)��'
�$������
%� 
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���������������� *� Legs Extension 

 
1. P�-��53.�DE3�=+
3.�8-���78DE33.
�3
C.�.���4,���,�?	��8 
2. H6-P�-��53.�DE3	5	7+
�+.
3.�=.���Q�3.�	5	7+
�+.
3.� 
3. 28,	56.
?J.6
�3 1 RM �
H
H55�
2S3P� 6.�+.�)	����M
=�C	
3.�DE35�
2S3H
=.�.
 
4. )��5
?J.6
�3=.�=.�.
3.�DE3C	
�=+�4�
 
5. P�-DE3
��
5
�-.
��
	�+.
,5.��J.=��=�
 C.2+	
5
��8 1�5�C+.>)8-.
6��
=�83�5)�.��5.4 

�C+.2�?
,	
C-.
 ��?=�
>)8-.
6
-. ��	G�52���3.4 ,+�
�C+.C+.
2��	��+H=-�5.4,J.6��5�3
?J.6
�3 
6. �=4C.2�?
,	
CS?
=�
K G
C
.
3�51�?
 GS
)�+	�3��5,�+2+.�����=-
 ;8�H
G�
6�42���=4C.CS?


2J.	�+.
��8��M� G�
6�42��)�+	��
�-.3�+.G�
6�42���3CS?
 ��4=-.

?J.6
�3 �J.=��=�
 �3
?J.6
�3CS?
�

=.�;)��3��3.�DE3C	
1	���=;= 

7. 6.�HG�C-.����	)�+	�
?J.6
�3�
 6.�HG		3����	�6���8C./�5
?J.6
�3   8�
0.1 3 
 

 
 

 
 

0.1  3  3.�DE3�3
?J.6
�32+. Legs Extension 
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���������������� *� Legs Press 

 
1. P�-��53.�DE3�=+
3.�8-���78DE33.
�3
C.�.���4,���,�?	��8 
2. H6-P�-��53.�DE3	5	7+
�+.
3.�=.���Q�3.�	5	7+
�+.
3.� 
3. 28,	56.
?J.6
�3 1 RM �
H
H55�
2S3P� 6.�+.�)	����M
=�C	
3.�DE35�
2S3H
=.�.
 
4. )��5
?J.6
�3=.�=.�.
3.�DE3C	
�=+�4�
 

 5. P�-DE3
��
6��
��8P
�
1�
 ��	G�52���3.4 C-	�2-.��4�C+.
	�)*
�7�)�4�.< 90 	
A. �.
�2-.5

2���.
�2-.3�5�+�
>6�+ �J.=��=�
 

6./�5�2-.		3>)=�
K �6���8�2-.,783.������	
>6�C	
�2-. )�+	�
?J.6
�33��5,�+2+.������-.K 
=-.

?J.6
�32��38�
�. ;)��3��3.�DE3C	
1	���=;= 

7. 6.�HG�C-.����	)�+	�
?J.6
�3�
 6.�HG		3����	�6���8C./�5
?J.6
�38�
0.12�� 4 
 

 
 

 
 

0.1 4 3.�DE3�3
?J.6
�32+. Legs Press 
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 *���'����*��7��7�������������������� 

"#�
��������8 15 - 20 �� ! 

 

������=*��*����� ( Warm Up) 7��������������
���� (Cool Down) 

 
 3.�DE38-��
?J.6
�3
�?
/�	�)*
3�G3���3.�		33J.��
3.�2��6
�3 3.�	5	7+
�+.
3.�3+	
3.�DE3
H
�=+�4���?
�)*
,��
2��GJ.�)*
	�+.
���
2�?

�?�1��	�)*
3.��=������.�1�-	�2.
8-.
�+.
3.���4G�=HG3+	

3.�DE3 H
3�G3���3.�	5	7+
�+.
3.����)�43	58-��3�G3���2���)*
3.��=������.�1�-	�2.
8-.

�4556.�HG��4�455>6�����
���	8 ��+
 3.��8�
	�+.
��M�6��	3.����
�6�.4K6��
G.3
�?
���=.�
8-��3�G3���2���)*
3.��=������.�1�-	�2.
8-.
3�-.��
�?	 ��+
 3.���8 �6���83�-.��
�?	 
 ,J.6��53.���8�6���83�-.��
�?	
�?
���3�42J.2�?
3+	
 �46�+.
��46��
3.�DE32�
2�;8�3.�
)F�5�=�G4
���H�-3.���8�6���83�-.��
�?	�55	��+3�52�� ( Static Stretching) �)*
6��3�S�
)�4;��
�C	

3.���8�6���83�-.��
�?	
�?
 G4�+��H6-3�-.��
�?	����3.�^_`
=��G.33.�DE3>8- ��4�83.��3�8	.3.�
�45�C	
3�-.��
�?	 (Muscle Soreness) 0.�6��
3.�DE3>8-�)*
	�+.
8� 
%����*�� *����
��!�������
���� !
$����I$������������������������ 

 =��	�+.
2+.��8�6���83�-.��
�?	=+	>)
�? �)*
2+.��8�6���83�-.��
�?	2��,J.��b,J.6��53.�DE38-��

?J.6
�3;8�H
�=+�42+.P�-)F�5�=�=-	
��8�6���83�-.��
�?	3�7+��)c.6�.�G
3�42�?
>)H
=J.�6
+
6��	
�7�2����-,S3=S
6��	�GM5��M3
-	���4>�+,.�.�/��8=+	>) 6��
G.3
�?
H6-6�78
��
 < =J.�6
+

�?
)�4�.< 
10 d 15 ��
.2� )F�5�=�2+.�4 2-3 ���?
 

 
                                       
 
 
 
 
 
 
 

 
 

�����
����
�)����� 

	3��4>6�+ 
����J'��%' 

1. ��
=�
��3�2-.3�-.
)�4�.<�+�
>6�+ 
2. ��	 2 C-.
)�4,.
3�
8-.
6��
 �C
�6���8=�
 
3. �+	� K �3�C
CS?
8-.
5
�-. K H6-,�
2��,78�2+.2��G42J.>8- 
4. C<4)F�5�=�=��=�?
=�
>�+;
-�>)8-.
6
-. 
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�����
����
�)����� 

>6�+��4	3 

����J'��%' 

1. 
��
=��=�
 ��8C.>)8-.
6
-. �C+.
	��M3
-	� 
2. ��	G�5P-.��M86
-.6��	�.
��8 

3. �3�C
C-.�A��f4 ;8��C
G4=-	
�6���8=�
 
    	��+8-.
6��
 
 
�����
����
�)����� 

6��
,+�
5
 >6�+ ��4�C
 

����J'��%' 

1. ��
=�
��3�2-.3�-.
)�4�.<�+�
>6�+ 
2. ��	�-.�>C�-P+.
	3 ��	C�.G�52��C-	A	3 

3. 		3��
8S
>)2.
C�.	�+.
�-. K G
��-,S3�+.=S
 
4. )F�5�=��?J.	�3���?
H
�C
=�
C-.� 

 
�����
����
�)����� 
>6�+ ��4=-
�C
8-.
6��
 
����J'��%' 

1. ��
=�
��3�2-.3�-.
)�4�.<�+�
>6�+ 
2. ��	�-.�C-.�A��f4>)�=4,45�3C. 
3. ��	C�.G�52��C-	A	3�-.� ��4		3��
8S
>)2.
C�. 
    	�+.
�-. K 

4. )F�5�=��?J.	�3���?
H
�C
=�
C-.� 

 
�����
����
�)����� 
6��
,+�
�+.
  =-
C.8-.
6��
  ��4=-
C.8-.
H
 

����J'��%' 
1. 
��
C.C�.�6���8=�
>)8-.
6
-. Dg.�2-.�-.��=48-.
H

=-
C.C�. 
2. �	�?	���	>)G�5C-	�2-.C�.  �+	� K 3-�=���
�-. K 

3. )F�5�=��?J.	�3���?
H
C.=�
C-.� 
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�����
����
�)����� 

6��
��4,4;13 
����J'��%' 

1. 
��
�
3�51�?
 C.C�.�6���8=�
 )�.��2-.��?CS?
8-.
5
 

2. 
	�C+.�-.� 6��
G.3
�?
�3>C�-�.8-.
C-.
C	
C.C�.H6-Dg.�2-. 
    �-.��.
�.53�51�?
 

3. 5�8=��>)2.
8-.
�-.� H�-A	3C�.8�
�C+.�-.�		3>)2.
C�. 
4. ��	�-.��.
�.53�51�?
 

5. )F�5�=��?J.	�3���?
H
C.=�
C-.� 

 
�����
����
�)����� 
=-
C.8-.
6
-. 
����J'��%' 

1.  ��
C.�8��� �	�?	���	�-.�>)G�5)�.��2-.C�.8S
�2-.�C-.6.3�
 

    H6-�.32��,78 

2. �1��	��.�,�87� H�-��	C.��
P
�
>�-C<4)F�5�=� 
3. )F�5�=��?J.	�3���?
H
8-.
=�
C-.� 

 
�����
����
�)����� 
=-
C.8-.
6��
 
����J'��%' 
1. 
	
=4��
C-.
�-.� 
2. 
	�C+.C�. ��	G�5C-	�2-. ��-�8S
C-	�2-.�C-.6.3�
 

3. )F�5�=��?J.	�3���?
H
C.=�
C-.� 
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�����
����
�)����� 

=-
C.8-.
6
-. 
����J'��%' 

1. 
	
���J. C.C�.�6���8=�
 
2. 
	�C+.�-.� ��	2�?
 2 C-.
G�52��)�.��2-.�-.� 
3. 8S
)�.��2-.�C-.6.3�
 (C<4)F�5�=� �C+.=�81�?
��4 
    >�+�	+
6��
,+�
�+.
) 
4. )F�5�=��?J.	�3���?
H
C.=�
C-.� 
 

�����
����
�)����� 

=-
C.8-.
6��
 
����J'��%' 

1. 
	
6
.� C.C�.�6���8=�
 
2. 
	�C+.�-.� H�-��	2�?
 2 C-.
G�55����<�C+. 8S
�C+.�C-.	3H6-�.3
2��,78 1�-	��3A��f4>)6.�C+. 
3. )F�5�=��?J.	�3���?
H
C.=�
C-.� 

 
�����
����
�)����� 

=-
C.8-.
6��
 
����J'��%' 

1. 
��
 C.2�?
,	
C-.
�6���8=�
>)8-.
6
-. )�.��2-.��?CS?
8-.
5
 
2. ��	2�?
,	
C-.
�.
2��6
-.�C-
 
3. 3-�=���
>)H6-6
-.P.3,��P�,6��	H3�-C.�.32��,78�2+.2�� 
    G42J.>8- 
 

�����
����
�)����� 
=-
C.8-.
6��
 
����J'��%' 
1. ��
 C.C�.�.
	��+5
1�?
 
	�C+.��M3
-	� ,+�
C.�-.��.
	��+ 
    5
3�+	
2������.�,�
)�4�.< 30 ��
=���=� 
2. 3-�=���
>)�-. K G
3�42��
��-,S3=S
3�-.��
�?	=-
C.8-.
6��
 
3. )F�5�=��?J.	�3���?
H
C.=�
C-.� 
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�����
����
�)����� 

=-
C.8-.
6��
 
����J'��%' 

1. 
	
6
.� �C+.�-.�)�4�.< 90 	
A. Dg.�2-.�.
�.53�51�?
 

2. �3C.C�.CS?
 ��?	2�?
 2 C-.
G�52��=-
C.8-.
6��
5����<C-	15 

3. 		3��
8S
H6-=-
C.C�.,��P�,	3H6-�.32��,78�2+.2��GJ.2J.>8- 
4. �+	��6���8�C+.C�.		3�-. K G
��-,S3=S
=-
C.8-.
6��
 
5. )F�5�=��?J.	�3���?
H
C.=�
C-.� 
 

�����
����
�)����� 
=-
C.8-.
H
 
����J'��%' 
1. 
��
Dg.�2-.2�?
 2 C-.
)�4353�
 

2. ��	�.
8-.
H
C	
�C+. 
3. 		3��
382���C+.�-. K G
3�42��
�C+.H3�-1�?
�.32��,78 

 
�����
����
�)����� 

=-
C.8-.
H
 
����J'��%' 
1. ��
=�
��3�2-.2�?
,	
C-.
3�-.
3�+.�+�
>6�+ ��	G�52��=-
C. 
2. �+	C.�-.��
>)8-.
C-.
�-. K ;8�C.C�.��
�
�6���8=�
 
   Dg.�2-.=�81�?
 
3. )F�5�=��?J.	�3���?
H
C.=�
C-.� 

 
�����
����
�)����� 

=-
C.8-.
H
 

����J'��%' 
1. ��
=�
��3�2-.3�-.
)�4�.<�+�
>6�+ ��	C�.,��P�,P
�
 
2. �3C.�-.�CS?
�-. K H6-,�
2��,78�2+.2��G42J.>8- 
    (	.G��P�-�+��H
 

3. )F�5�=��?J.	�3���?
H
C.=�
C-.� 
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�����
����
�)����� 

�J.=��8-.
C-.
 
����J'��%' 

1. ��
=�
��3�2-.3�-.
)�4�.<�+�
>6�+ 
2. ��	2�?
,	
C-.
)�4,.
3�
�6
�	A��f4 
3. �	��
=��>)2.
8-.
C�.�. K �=+>�+�3�
 20 	
A. 
4. )F�5�=��?J.	�3���?
H
8-.
=�
C-.� 

 
�����
����
�)����� 

�J.=��8-.
C-.
 
����J'��%' 

1. 
��
  C.,	
C-.
>C�-3�
 

2. 5�8�J.=��1�-	�3�56�
6
-.>)2.
C�. ��	�.
	��+C-.
=-
C. 
3. H�-,+�
C	
�C
2+	
�+.
 =-
C.C�. �1��	H6-5�8�J.=�� 
     >)8-.
6��
H6-�.32��,78�2+.2��G42J.>8- 
4. )F�5�=��?J.	�3���?
H
8-.
=�
C-.� 
 

�����
����
�)����� 

)�.�C.8-.
6��
 
����J'��%' 
1. ��
��3�2-.H
��3f<4�2-.
J.�2-.=.� H6-C.�-.�	��+6
-.;8� 
    )�.��2-.2�?
 2 C-.
��?>)8-.
6
-. ��	2�?
,	
��
P
�
 
2. 
	�C+.�-.��
�-. K H
C<42��C.6��
��
�
�6���8=�
 ,-
�2-. 
     =�81�?
 

3. )F�5�=��?J.	�3���?
H
C.=�
C-.� 
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�����
����
�)����� 

6��
,+�
�+.
 
����J'��%' 

1.  	��+H
2+.�73�C+. P+.��	2�?
,	
C-.
,��P�,1�?
 

2.  ;3+
6��
CS?
8-.
5
�-. K 1�-	�3�53-�A��f4H6-�.
��8	3 

 
�����
����
�)����� 

2-	
 
����J'��%' 

1. 
	
���J.H�-�C
8�
�J.=��CS?
G
3�42��
�C
�6���8=�
 
2.  38,4;13��43�48�3���
3�.
H6-,��P�,1�?
 =�	8���. 
     2��)F�5�=� 
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"���� K������ �$�����
%�%���L������!&�
 ����M� "�
��� 20 �'�� ! L����=*� !
 1 

 
 

�J.8�52�� 
 

�.����	
�33�h. 
P�3.�28,	5 DE32�3f43.��=4=��8
��5��+3�53.�DE33�-.��
�?	C.�55;	�1M
 
>��
=����
 

1.   
2.   
3.   
4.   
5.   
6.   
7.   
8.   
9.   
10.   
11.   
12.   
13.   
14.   
15.   
16.   
17.   
18.   
19   
20.   

 
����
�%= H55�
2S3P�3.�28,	5H�-2�?
28,	53+	
��428,	56��
3.�DE3 
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"���� K������ �$�����
%�%���L������!&�
 ����M� "�
��� 20 �'�� ! L����=*� !
 2 

 
 

�J.8�52�� 
 

�.����	
�33�h. 
P�3.�28,	5 DE32�3f43.��=4=��8
��5��+3�53.�DE33�-.��
�?	C.�55;��,
>��
=����
 

1.   
2.   
3.   
4.   
5.   
6.   
7.   
8.   
9.   
10.   
11.   
12.   
13.   
14.   
15.   
16.   
17.   
18.   
19   
20.   

 
����
�%= H55�
2S3P�3.�28,	5H�-2�?
28,	53+	
��428,	56��
3.�DE3 
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"���� K���� �$������������ ( 1 RM ) 

 

3�7+�2��...........        2+. Leg press           2+. Leg extension 
 ���	..........................................
.�,37�......................................��
/�8�	
/)k�3�8................... 
	.�7.................)k   	��+5-.
��C2��.................6��+2��..........�	�.........................../

..............................
=J.5�.............................	J.�0	............................G�
6��8)l==.
�  6�.���C;2�A�12�......................... 
 
    �+. 1 RM = nnnnnnnnn.)	
8� 
 
,�)8.6�2�� ��= X ���?
 ��.�6
�3

C	
 1 RM 

?J.6
�32���3
>8-( )	
8�) 

���.=+	��=       
( ��
.2� ) 

���.1�3 
( 
.2� ) 

1 
2 
3 
4 
5 
6 
7 
8 
 

1x 10,1x8,4x6 
1x 10,1x8,4x6 
1x10,5x5 
1x10,5x5 
1x10,2x5,3x3 
1x10,2x5,3x3 
1x10,1x8,1x5,1x3,1x1,1x1 
1x10,1x8,1x5,1x3,1x1,1x1 

60% 
70% 
75% 
80% 
85% 
90% 
95% 
100% 

nnnn 
nnnn 
nnnn 
nnnn 
nnnn 
nnnn 
nnnn 
nnnn 

 

30,25,20 
30,25,20 
30,20 
30,20 
25,20,15 
25,20,15 
30,25,15,10,5 
30,25,15,10,5 

 

7 - 10 
7 - 10 
7 - 10 
7 - 10 
7 - 10 
7 - 10 
7 - 10 
7 - 10 
 

 
����
�%=  DE3�3
?J.6
�3,�)8.6��4 3��
 ��	 ��
 G�
2�� 17Q A73�� �46�+.
���. 17.00- 19.00 
. ��42J.
3.�28,	56.�+. 1 RM H
��
�,.��3+	
3.�DE3 ��45�
2S3P�6.�+.�)	����M
=�C	
3.�DE3 
 

 

 

 

 



 72 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

������� L. 
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2�� AQ 0521.2.0707/                                            0.����.1�AS3f. �<4AS3f.A.,=�� 
             �6.��2�.���,
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